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3 Grammar :- 10
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(ii} | Determiners 2 3
(iv) Prepositions 2 3
4 Text books & Supplementary Reader 10
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Supplementary Reader- Moments
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1 Reading
Two unseen passage (around 350 words for
both)

{i} Unzeen passage-1- The passage may be
factual, descriptive or literary.

Four multiple choice questions

Six very short answer type questions. To be
asked to assess comprehension,
interpretation, inference and vocabulary.

10X34=T%

10X%1=10

{ii} Unszeen passage-2- The passage may be
case based with verbalfvisual inputs like
statistical data, diagrams, charts etc.

Four muliiple choice questions

Six very short answer type questions. To be
asked to assess comprehension,

interpretation, inference and vocabulary.

10X34=T%

10X1=10

) Writing

10

{i} One out of two tasks- description of any
event orincident or a process based on
hintz  (100-120) words

(=)

(i}

One out of two composition- an aricle, a
report a speech (Around 100-120 words)

(=)

{iii} One out of two letters (Business or official
letters) for enquiries, complaints, asking for
information placement of a person or an
order etc. or letter to the school authorities
regarding , admission school issues.

Requirements, suitabitity of courses efec.

(=)

3 Grammer 5

{i} Determiners

{ii) Tenses

(el | G2




(i}

Meodals

(i)

Prepositions of motion, time, space and
mental attitude.

Text Books

Hombill prose-

(i}

Omne out of two extract from the prescribed
text for comprehension. (six wvery short
answer type guestions)

Gxie=3

G 1=6

i)

Three cut of four short answer type
gquestions 20-30 words.

3x1=3

X 2=6

i}

Twa long answer type questions (with
option) 60 words

2¥3=0

2X4=8

Homibil-Poetry

(i}

Cmne out of two extract for reference to
context from the prescribed pomes.

[ii)

Two out of three short type questions 20-30
woirds.

2x2=4

2x2=4

i)

Omne out of two long answer type questions
80 words.

Supplementary Reader- Shapshots

o

(i

Cwne out of two question to test the evalution
of characters, events and episcdes (in
about 60 words)

(i)

Three cut of four short answer type
questions to be answered in about 20-30
words.

AX2=6

(i)

Four multiple choice questions.

4 1=4

100
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Reading (On unseen passage and a Poem)

A passage for comprehension with exercise
and vocabulary of about 300 words

An extract from a poem of about 14-15 lines
guestions will be such as word formation and
inferring words meaning and explanation or
summary of it

Writing

An essay out of three on argumentative/
discursive/ reflective/ or descriptive topic (150
words)

in

A compesition such as an article report, a
speech (100 words)

i

Formal letterf applications and informal letters
(Formal letters : to the editor giving
suggestions, opinions on an issue of social or
pubdlic interest. Informal letiers personal letters)

o

Text for detailed study : Woven words (Prose)

A passage for comprehension of about 150
words from the text book with short answer
type questions testing deeper interpretation
and drawing inferences.

4X1=4

eX1=6

(k)

Two textual questions out of three in about B0
words

2X3=6

2i4=8

(<)

Two short answer type textual questions out of
three (80 words)

2x2=4

2¥3=6

Poetry

(a)

COne extract from the prescribed poems for
comprchension and literary interpretation.




(b} Two out of three gquestion an the prescribed 2%2=4 23=6
pomes for appreciation to be answered in 60-
B0 words.

4 Drama : Julius Caesar

One out of two questions to be answered in 7 10
about 150 words to test the evaluation of
charcters. events and episodes

5 Fiction : The Guide 4

(a) One textual question to be answered in about 4 <]
75 words for interpersonal relationship

(b} Two out of three textual short answer type 2X1va=3 252=4

guestions to be answered in about 40 words on
content, events and episcdes.

[ Literry Temns : 3
Elegy. Epic. sonnet, ode, Lyric, Ballad, satire, 2X1va=3 22V:=5
Fiction, Melodrama, Monologue

7 Figure of speach 3
Simile, Metaphor, Alliteration, COnomatopoeia, 262=4 2i2W2=5

personification, paradox, oxymonon,
Euphemism, Epithet, Antithesis

qo Aar A 10 10 70 10 100
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